Gleichungssysteme (3x3) I

Lose das Gleichungssystem. Schreibe auf einem Karoblatt.

1. 8x = -32 X =
3Xx + 3y + 3z = -63 y =
VA = -56 Z =

2. 9x = -9 X =
+ 7y + 5z = 51 y =
y+z =7 z =

3. 3x+7y = -20 X =
- 8z = 56 y =

4x + 7z = -29 zZ =

4. -7x - 6y = 34 X =
4x + 9y + z = -3 y =
8X + 8z =-5 Z =

5. ox + 7y - 82 = 55 X =
-5x + 6y = 26 y =
8x -3z =-5 Z =
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Gleichungssysteme (3x3) I

Lése das Gleichungssystem. Schreibe auf einem
Karoblatt.

LOosungen
1. x=-4
y = -8
z =-9
2. x=-1
y=20
z=-1
3. x=5
y=-5
z=-7
4, X =2
y=-8
z=5
5. x=-4

N <
o
=
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Gleichungssysteme (3x3) II

Lose das Gleichungssystem. Schreibe auf einem Karoblatt.

6. 6y = 30 X =
5x+5y+7z =5 y =
-6x + 5y - 9z = -8 z =
7. 3x-7y +5z=26 X =
y-6z=-4 y =
3y-z =-1 Z =

8. -6x+y + 4z =-3 X =
-3x + 4y -9z = -1 y =
X+ 6y + 3z=15 zZ =

9. 5x +4y + 4z =4 X =
-2X + 3y + 9z =5 y =
6X + 2y + 72 =3 Z =
10. 5x + 8y + 5z = -1 X =
-8x -6y - 3z = -3 y =
-8X +4y + 6z = -1 z =
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Gleichungssysteme (3x3) II

Lose das Gleichungssystem. Schreibe auf einem Karoblatt.

LOosungen

6. X =-2
y= 5
z= 5

7. X =-7
y = -1
z= 8

8. x=6
y= 2
z=-1

9, x=-1
y=29
z= 3

10.x = 9
y =-6
z=-2
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